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1  

   

M = 0.2 Y+ 100eX = 500ee   

100 

6%  300 8%. 

-  

 100 50% 

100 5% 400 2% .

:  

C = 100 + 0.8Yd :  - 

Ms = 1200 -  :  

Md1 = 0.6Y - :  

Md2 =  630 – 6000 i -  :  

-  :G = 100 

-  :R = 100  

-   

- e = 1 

-   

- .  

-   

- .  

  

1-    

              BP = BTC + BK    

-   
 BTC = X – M  
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-  0.2 Y- 100e = 500e 

-  0.2 Y = 400e 

-   
BK = K0 + u i  

:                 0.06 u + k0 = 100           

                                                                                             0.08 u + k0 = 300          
                         u= 10000     k0 = -500:  BK = 10000i – 500  

:                 400e -0.2 Y + 10000i – 500                                                                                          BP =  

 
400e – 0.2Y + 10000i – 500     Y = 2000e +50000i -2500  

2-  :  

-  :  

:                          I0 - 0.05 k  = 100                    

                                                                                    I0 - 0.02 k  = 400  

                         I0= 600     k = 10000: I = 600 –10000i  

:  
Y = 100 + 0.8Yd + 600 –10000i + 100 + 500e – 0.2Y – 100e 
    = 100 + 0.8 (Y – 0.5Y – 100 + 100) + 600 –10000i + 100 + 500e – 0.2Y – 100e 
  Y = 1000 – 12500i + 500e 

3- :    MS = Md 
1200 = 0.6Y + 630 – 6000 i   0.6Y = 1200 – 630 + 600i 
Y = 950 + 10000i 

4- :  

 e = 1 IS   BP :   
IS : Y = 1500 – 12500i 
BP : Y = 50000i - 500 
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                      i 

 

 

 

 

 

     E’ 

  E      

 

 

      Y   

5 - .  

E  

BP :  

6 - :   IS = LM 
1500 – 12500i = 950 + 10000i   550 = 22500i 
i = 0.024, Y = 1200 

7- :  
BP = 400 -0.2 (1200) + 10000 (0.024) – 500 = - 100  

100   

-  :  

- :  
-  0.2 (1200) = 160 BTC = 400 

160   

- : 
BK = 10000 (0.024) – 500 = -260 

260   

8- :  

1300 1200 

0.024 

0.026 

IS 

IS’ LM LM’ 

BP 

BP’ 
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e 

 E2   

-  :  
BP = 0    400e -0.2 (1200) + 10000 (0.024) – 500 = 0 
                400e = 500        
               e = 1.25 

) (

 

  

- :  
IS’ :  Y = 1000 – 12500i + 500(1.25) 
         Y = 1625 – 12500i 
BP’ : Y = 2000 (1.25) +50000i -2500 
         Y = 50000i 

-  IS  BP 

 1625 – 12500i = 50000i   i = 0.026  

  IS’  BP’   Y = 1300 

- :  
LM’ : Y = LM + M     M = Y – LM 
  M = 1300 – 950 – 10000 (0.026) = 90 

LM’ :       LM’ = 1040 + 10000i  

 

- 2.6% 1300 )

 E’  ( IS  LM  BP IS’  LM’  BP’.  

2  

) (

  

- :  
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S = 0.25 Y - 50,  I = 600 – 5000i    
-   :  

T = 0.12Y – 60,  G = 180 
- :   

Md1 = 0.4Y,  Md2 = 800 – 10000 i,  Ms = 1300 
- :  

X = 250e, M = 0.1 Y+ 50e,  
  e    

-   

-   

-  e = 1 

-   

-   

- 10%.  

- 10%.  

-   

  

1-  : 
+ + = + + 0.25 50 + 0.12 60 + 0.1 + 50 = 600 5000 + 180 + 250     

2- :    MS = Md 

0.4 + 800

3-    

) (

. 

4-  e = 1  

  e = 1  IS  :   
IS : Y = 2318.936 – 10638.298i 
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-  :   IS = LM :  

2318.936 10638.298 = 1250 + 25000 = .   ; =  
5 - :  

- : I = S 
I = 600 – 5000(0.03) = 450 
S = 0.25(2000) - 50 = 450          

-   :   T = G  
T = 0.12(2000) – 60 = 180, G  = 180  

- : MS = Md  
Md = 0.4(2000) + 800 – 10000 (0.03) = 1300 = Ms  

- :X = M   
X = 250, M = 0.1 (2000) + 50 = 250 

  

 

6- :    

  

  i  

  LM                     IS 

  

  BP  

  0.03  

  

        Y 

  2000        

7- 10%:  

e 

   

- :  

IS’ :    Y = 2318.936 +( 18/0.47)– 10638.298i 
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         Y = 2357.234 – 10638.298i 

-   
2357.234 10638.298 = 1250 + 25000 = .   ; =   

3% .  

-  : 

2025 :  

250e = 0.1 (2025) + 50e = 1.0125 

 IS :  

IS’’ :    Y = 2324.252 - 10638.298i 

3%   IS’’                 Y = 2005  

-  LM :  

- :  

LM’ : Y = LM + M     M = Y – LM 
  M = 2005 – 1250 – 25000 (0.03) = 5 

 LM’      :  LM’ = 1255 + 25000i  

 

- 3% 2005    IS  LM 

 IS’’  LM’.  

8-  10%  

M = 130 

- LM :  

: 0.4

- :  

2318.936
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3%   LM’’     Y = 2325 

- :  

 IS:  

  

   

.  

  

  

  

  

  

  

  

  

 

 

  

  


